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L “We need to remind ourselves that when we talk of the technological, we are not
| talking of the pﬁre]y technological — that no such beast exists. Rather we are saying
~ that the technological is social. Already, then, we find that we need t0 blur the
boundaries of categories that are normaliy'kept apart. Thére is no real way of
.dlstmgmshmg between a world of engincering on the one hand and a world of social
on the other” ~ Wiebe E. Bi jker and John Law.

' Discuss the above statement.

.2. “It is not possible to have an ever growing production and consumption cycle leading.
to 'ltmlimitcd gm\;vth". Use your knowledge on entropy and disorder to discuss the

above statement. -
3. a). The table 1 below (taken from your lesson material) provides an indication of the
historical energy consumption patiermn of human beinps. Does this infcfmation helpus

to draw a positive picture about the future of humankind? Discuss!

b). Identify issues involved .with- the taE‘le 1 given below as a source providing

credible scientific data.
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4. The soil in enriched by a combined process of minerals and micro-organism present in

" the soil. The applications of certain chemicals harm these helptul micro-organisms. This

* makes the soil infertile therafare requirlhg more and more external synthetie inputs.

Discuss this problem and suggest mmcd:al actlons posmbie for resource poor-farmer'a

5. Wastc water lreatment, to meet environmental standards, is an expensive operation in -

most mdustrles There are two soluauns to the problem one 15 o geuerate less waste and

the other is to moKe use of waste generated. -

Dlscuss these two possibilities by takmg a spcmf‘c mdustry mto account.

© 6. a). List five industries, identify the waste streams in each of these industries and supgest

© appropriate control measures 1o minimize such waste.

b). Explain in detail why the air in the @vorking environment should be maintained free

of toxic particles?




